EARAROBREBRT —5 XN—ZXBISH—F

2023548308 (B) 20/5%12H

m C3-11 C3 U>X%—f% ‘ X7 2 ‘ (el — | 9 14000 RE
[AXE%) 1 &:600,00H ~ 23#%&:210,000F  337%:120,000H  43#&:90,000H . 5 3&:60,000
B RS RS R 1 BF (F8) g4 (BE) | BBIEGI | E3F |SIEH | AR | AE | BN i) / BE / £EWNS
BAEXR : -2-2- - HopfE— (&S0
1 4 F—UI—JL 4 4 56.01‘ 1.(3_2).3 3-2-2-2 | 41.0 1 AIZ)Z T =
RIFAUNYRA NIAY N B:F—FVyvvt B/ BEI77—L
. E=ES 2 -6-4- - ITHER (&40
2011 |7y ILy b 48 "5 e e : (4_7; ZBsE
R:fwId—=FIVYI B:AAY3DTILy T ==
\ 4t 5 | FIERER 1:33.4 1-1-1-1 | 42.4| - 10 | 465 |MIIBE @&
3|55 YUY ~D A51.0 2172 (o) | BHEH
R:NSVEYR B:UYv—)LY—/N— ERRUS
S 0 5 | AHESE 1:33.9 8-7-5-5 |41.6| — 8 451 | EBAERE (S50
418jn| 117> 5Y "D @1 oo | @ Ir—2kevay
RJUIAI—2 B:PRIAPAUT 1 ESHhT7—LI
S__ o~ B4 | SEBER 1:34.0 9-9-8-8 |40.7| - 9 474 | EEEE (EH)
N Pl o i (o |wEEE
R:¥v/0704 BiwA9VILFA g IE
— <, = F EEK : -3-3- - 2)IE— (FH0)
M6 TL=FLTYI— S v - IR A oy | mmEE
R:5TU—Fq #:xuro—8 KE FRIE
s it 4 | BRER 1:34.4 4-4-6-6 | 42.1| — 3 433 | MIBE &0
i : BEZS 50 759 47) | LA
R:ANWTz—J)I §B:7v3 FERBUS
S [ e el : -5-7- - WAREE) (B4
8 v FEFLITYR 4 4 o L%l 6-5-7-7 | 42.8 5 22 %ﬁ%
KR40 B:NVS _Eok#is
ol P~y s 4 | FEFREE 1:35.5  [10-10-11-10| 40.5 | — 7 | 440 |BIFFES (SED)
91719 RIVISVUT 54.0 (1 1/2) (-11) | BEAAYERL h
R:STU—FA B:FSFFR—) FHERIY R
¢ RIS : -11-10~ - AR (F40)
1007] 8| YURY bk o | B 1.(315).7 11-11-10-9 | 40.7 6 (4_438) ULJ.DQ\: 5
R:AUTYTI—RY B:NOY R—)L/SIL a=te ]
RS, t 9 | @BRET 1:39.8 5-8-9-11 |45.4| — | 11 | 467 |FHA &)
1lgliol oy RS2 * 5.0 5o o |2759F 39w @)
RiTUA—Y BTFAFY RO4%5
@ 1—F—&RIEL
13—7+— 5,6,4,3,10,7,1,11,2,9,8
20—7F— 5,4,6,3,7,1,11,10,2,9,8
30—7— 5,4,6,1,11,3,7,2,10,8,9
40—F— 5,4,1,6,11,3,7,2,8,9,10
o ILRE
BB 4 180 | | 914K 1-4 120M e B 1-4 120M 3EE 1-4-5 4,430M
B B 4 1009 4-5 2,850M 5 & 1-4 1504 3EH 4-1-5 10,480/
1 130 1-5 3,640M Ba 4-1 330
5 1,140

ABIC OV TRUTEREERRODDZE. THRIIZEL.




